Honors Chemistry PS.22

Name: \/j\}\ \\ i Date: Mods:

\ _'_'"Unit‘7: Classification of Chemical Reactions

Classify the reactions below as synthesis, decomposition, hydrocarbon combustion, single
replacement, or double replacement.

1) 2H2 (9) + Oz (g) = 2H20 () "‘.>\.&"\}\' x\k 0SS

2) 2H20 (1) > 2H2 (g) + O2 (g) (;X.(i.:;*(;.mi .j(_j>".j~;\"i"i( X

3) Zn (s) + H2S04 (aq) = ZnS04 (aq) + Hz (g) S 4'\({}\& ¢ "LP\{.’QC{’ NEX \lﬁ
4) 2CO (g) + Oz (g) > 2C0O2 (9) : St‘.} athesis

5) CaHs (g) + 502 (g) > 3CO2 (g) + 4H20 (g) Comboustion

6) 2HgO (s) > 2Hg () + Oz (9) de composifia

7) 2KBr (aq) + Clz (g) = 2KCI (aq) + Bra () ’:‘5} r\@\e e g)\&c e meﬁ“\‘-
8) CaO (s) + Hz0 (l) > Ca(OH)2 (aq) Sgg ﬂ‘{'heS\S

9) AgNOs (aq) + NaCl (aq) > AgCl (aq) + NaNOs (aq) dOu\o\& P@{K&LEW\@(\%

10) CsH1206 (s) + 602 (g) > 6H20 (I) + 6CO2(g) com b\k{b’hoﬂ

11) 2H202 (aq) > 2H20 (I) + Oz2(g) &QCO{Y\‘POS‘VH O

12) Ca(OH)2 (aq) + H2S04 (aq) = CaSO04 (aq) + 2 H20 ()




Directions: Balance the following reactions and indicate which of the six types of chemical
reaction are being represented:

13) _/ NaBr(aq)+_ | Ca(OH)2(aq)> | CaBrz(aq)+ < NaOH (aq)

Type of reaction: Aouo\e -"6’3)\6((9(‘:\6“‘\“\*

12) 2 NHs(@)+ | HeSOs(aq) > | (NHa)2S0s (aq)

Type of reaction: ‘iSL"} i"\‘\_"\"\@' S

15) 1 oo+ 2T 02(@ > 20 corg)+ 18 0@
Type of reaction: COM \,_’)&\B lﬁ o)

-~

o

16) ~_ Pb(s)+ _Z__ H3PO4 (aq) 9_%__ Hz (g) + \_ Pb3a(POa4)2 (s)

Type of reaction: _ 5 | 4"'\%\& (’Q?k&(& MNENT

17y | LisN(ag)+ 2 NHNOs (aq)> = LiNOs (aq) + | (NHs)sN (aq)
Type of reaction: double (\é{?lau&rm@n T+

7D

18) _~_HBr(aq)+ \_ Al(OH)s (aq) > i H20 (g) + | ABr(aq) |
Type of reaction: __ (L0 U O\© (\Q;&)ktu“‘e menrt

199 2 NaCOs(s)> 2 Na(s)+_ Z-CO2(g)+_ ) 02(g)

-

Type of reaction: d@, COvY \ g})@%i ﬁ axn

20) | sits)+_Z Bra(g)>_ | _SiBr(s)

Type of reaction: 3&} Athes) S

21) 3 (NH4)2CO3 (aq) + 7. ANO3)s (aq) > (> NHaNOs (aq) + | Al(COs)s (aq)

Type of reaction: Aouble Wf?k&ﬁ:t et



